Efficiency vs dr

x 0.05
<
9.045
30.04
c
Q
®.035F 1
= .
©0.03F -
0.025
0.02F -+t H HE-H
0.015f -t 1.1 i A
0.01 | - 14tk -
0.005f- -t - H-Hesqr -1 [ | EREaEs:
I SR i

......

[l [Tl

pa
t TT retraanIdFlIeleS v2_pr
14— 0D M_mKFit_TT_baseline_6iter

Ratio

elimWP_5iter

—— DOQM_mkFit_TT_RetrainV2_WP1_| 6|ter

.

1078 1072 107t

1 S

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.02

2.018
1.016
®.014
012
0.01F
.008F
0.006f -+
0.004F -+

oetficiengy

0 95 : : : M : : : M
107 1072 107t
AR(TP, jet)

Efficiency vs pu

50.05
o
9.045
20.04
(]
®.035
=
20.03
0.025
0.02
0.015
0.01
0.005
J..G:
12;

Ratio

1.1F

i




	Contents
	Page 1


